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“What is the necessity of angle o}

z8tate ‘Nyquist critetion” f

Obtaln the transfer functlo
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Part A is compulsory which carries 25 marks Answer all qucstlons in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.

=Hach question cames 10 marks:and may:have a, b,z¢:as sub questlons - T
* Part-A
_ _ _ 25 Marks)
#Define transfer funéfion. &% 22 7]
Describe the feedback characteristics. : [3]
Define ‘Type’ and ‘order’ of the system. 2
svrite the effects of proportional derivative systems,, e [3]

Fﬁgtes? : . o
urwitz criteria. 3]
o .o
em stability. 29 . Bm - [3].

Write the necessary condition,
Draw the pole-zero plot of

Draw the state diagram o : V)
Mention the possible n les and posmble number of state
_ﬂ{gquationsmfior the systemp~desceibedby .. - [3]_

e PEy sy

ms with two examplcs.
eries RLC circuit. _ .. [545] ..
Write the merits and demerits of signal flow graph over block diagram reduction
technique.
Obtain the:transfer function of the following sigirzlalg;t:low graph: sre [545] s
iy

Explain the open loop éon

What is the second order response of a system? Draw the time response of second

.order system excited with step.input and, explain all the specifications i i detail. [101.

OR'
Find the steady state error and error constants for unit step, unit ramp and unit

, parabohc mputs for the followmg system ' - [545)
) G(s)— - b)) Gls)=
0. 1s+1)(0 554D D = G20

;gg;g,EXplaln alk the rules:for constructmg root :docus of a:given transfer function. {10] VVVVVVV

Max. Marks: 75 |
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9.a)

10.a)
b

_ b) |

Comment on system stabﬂlty ‘for the followmg charactensuc equatmn usmg R-H

criteria.
N(s) =s +SS +103 +55+1

zzzzzz

Find the gain margin and phase margin u_smg bode plot for the open loop transfer

‘fu ncaon';??iff:‘i oL R E [10] CoEE
G(s)= K
s(s+ 10)(s +2)
) OR g
Explam the PID contro]ler with a block diagram. _
Draw the: bode plot for Lag compensator. [5+5].
:Wnte the advantages of state space approach o
Derive solution of a homogeneous state space equation. [5+3]
OR
------ Find contrellablhty and obser¥ab the systemi"describediby - 2% [10] ¢
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